TRIGONOMETRY
SHEEDOS

Basic Questions Based on Values of Trlgonometrlc
Ratio in Different Quadrants
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for (QO-B)

sin(Qp-08) = (oS ©
(os (Q0-0) = SinG
tom (q0-0) = Cote

Cosec(Qo-p) = Secg




for (2046)

¥ Sin(%0+t8) = wse
¥ (os(a+e) = — Sin®

=  tom(A049) = — wie
A Cosec(qote) = Seco

* Sec(doye) =

4 ‘ (DSQC Q
S (qm-g) -

~ toug

Sind|wsec

———

(90-180")
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foy (180-06)
_¥ Sin(180-8) = SING

Sine/(mece
¥ C05(180-8) = — oSO
¥ tom((80-9) = — towms (01505
0 —190:
¥ Cosec((80-6) = COse(g N
¥  Se A L
Cligo-p) = _ Sece

¥
o+ (l&o-e) = — (otg




Foy (1804-9)

¥ Sin(18ote) = — SING
¥ Cos(l8ote) = — COSO
¥ tam(igote) = tome
* Cosec((8o49) = — Wsecg
* SQC_UQD,LS) - Secg
* ok (l80+g); oty

0-Qo

2710 -

360



Foy (270" 9)

% sin(270-8) = — (0O
* 0s(270-8) = — Sin®
¥ tom(270-8) =  (ote
*  (0sec (270-p) = — Seco
* Sec (2‘70~®) -
= = (»OSe(@

Qo-180 O-0
0- 36
iy




% gin(Q'lD‘I’B)
* cos(270t8) =
¥  tom (27016) =

Foy (270"’ 9)

— COSHO

¥ (ose.c(a'mm) —
* sec (27040 _

¥ Cot (Q"lo{-e)
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Sin®
Cot+-©

— Secg
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Fov (360- 9)

¥ Sin(360-8) = — SInG
F(0s(360-6) = ™9

* Jtom(%o-o) = — taud
¥ (Osec(B60-p) = - (B e g
¥ S€(_(360-@): Secq
¥ Co1—(360

qo-I§o0 0-9)
[80-2710| Q10-3b0
v
(29/5e(0



Cor (360t0) 0 { %

ALC
£ Sin(360+0) = SINO LA
¥ (0s(36016) = COS® (5
. (360“9) S Tous [§0-270 | J10-360°
X (OSfC.(,'%M@); Lose g
¥ Se(_(%m(@):

SG(@

X ot (360+9) - CO-(*@
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Sinx = —-%& >

ran - %‘6" 1. If cosx = - =, xlies in the third quadrant,
v X = H

COSecx = —-g- find the values of other five

¢(X = — 5 trigonometric functions.
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. S
SN = —%— 2. If cosx = ~13° X lies in the second
Cosed = J,% quadrant, find the values of other five
S » - % trigonometric functions.
12 'S
tomg= _ 12 |
>
S
Wty - _ S I

2 Sindfa, 4




Sin 210

Sin(180+30 )
— Sin30°

!

¥ SInlso L
sin (90+60')
C0S60o

—
_—
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X SIn390
—  Sin(360+30)

- SIn30°



£ Sin 100" = +00SI0
¥ Sin 190 = — SInlo’
¥ Sin 2000 = — Sin20o
¥ Sin&0 = — cog g
¥ Sin 3% = T Sn30
L Sin Sy - - Sin3g
X Sin O]y »
¥ Sin Q3. - éSSo
T T eIy

= I
~L | Y
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Ul & _
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sin(lusy) = Sin 1o
o [CD

¥ tou(isu0) =- ot |0
|

. S0 = Q0 |10
< \Syy = 20X 17 410
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o 3. The value of sin 960° cos 330° + cos 120°
| sin 150° is :

S
év af - 1 (b) 1
T C

1 J3
(c) J2 @ 2
f_ z:: Z?:o’ - (05336 + (os iy . Sinigy
= X106y
= ~Sings o ) (osk%xe%o\-f(OSK%XH%) Sin{A0Ki+60)
i \ -S\I\SQ ~ Sy (0S 6
“N3:4{3 _ 1y
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cin 314
= Sin 7&;*' ¥ 4 Find the value of sin o
- l @ 3 3

= (;S'm I860'j

- 1
= Sin (Qx20+60) a) 1 b

s

3

2 M? () ©




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

- C0S Mo . .
~ 05(A0XNA+0) S. Find the value of cos (- 1710°).
-~ Sino Ja) O (b) 1
— @) 1

(c) -1 (d) =

2
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- {on 13XI8&~ -

Pra 137
- ton1aS 6. Solve tan 12
tom (QOX2+1S)

(a) 243 o 2_3

- L{?'LX\_B-) = (£3~\)’z (C) '\/5 (d) \/5 +1
3t (3 (B G
- H _2‘1’:3 _ 3“ Q\FZ
0 Q__Is
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sin(Qo+60) 77, Find 3sin ” sec2Z ‘4sin-5—ﬂcot— ?
_ . | 6 3 6 4
-~  (DS6b
Jda) 4 (b) O
(c) -1 (d) 2

=y

- 33"\30 SQC 60 _

5 H’-
Lx L
- )/ .}I
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Sint6d + (0STUS’ . . T
8. Find sin?— + cos?— = ?
- 3_+_%__ 3 4

B AV (a) % ] 3

(c) 1 (d) -1
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sin(a0+4s’) . 3 - T
- CoSYS’ : Find 2s1n27 + 2coszz + 2cos? 3 =7?
(a) 4 (b) 5
de) 5 () 6

—

2Xx Sin°13g +20024S 4 20052 g

= QYKLY‘-\-Q)( L
-y Wy
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7
@ Find 2s1n2£ + cosecz—” cos2” =97
e 6 6 3

(a) 1 (b)

N (W N =

1
¢) - 5 (d)
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5
@ Find cot2—7£ + cosecz—” + 3tan2£ =7?
oy 6 6 6
(a) 6 (b) 4

(c) S (d) 3
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- Loy 12, Find _SOS(T*X)cos(x) _
- 0% = coily sin(n-x)cos(;+x)
Sinty
(a) sin’x (b) tan’x
(c) - cot?x \(‘} cot’x
©s(18o+ 0)= (0 Q%xzm) \

o
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13. sin 15° + cosl105° =

Jdaf O (b) 2 sinl5°
(c) coslS® + sinlS° (d) 2 cos 15°

= SIS+ (g (Q+(g )
- Sinlg -Sinlg

O

==
R



and (0s(-8) = COSP
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SinG A 14. cos25° + cosS5® + cos 175° + cos 205°
+ cos 300° =7
Qo1& | 0-90
= 1 1
[Po-110| 270~360 \"‘{5 (b) - 5
TOwm. 0 (ose
J3
(c) > (d) 1

. -5)+ C0s (180 49¢ Y4
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= (os (90-38) —(0S (q0+A)

)
(os A +C0S (I80+3R) coOS (E . 3A) - COS E + A)
= Sin3Q + SInA 1S. 2 2 =7
Cosh - C0S 2A cosA + cos(nt+ 3A)
= 2sin (o‘ﬂ?ﬂ s (-h ) (a) tan 2A \(Ja’)/ cot A
Q Sin (F\+\§q>. Sin Gﬂ%pg (c) tan 2A (d) cot 2A
- A/S“MCQSQ

Sin2f SinA = Oth



s SnC—+ SinD = ‘QSJHC‘C%D)' COSC(—;'D)
¥ SinC- Sinp = &S'm@)&os(C_{D)
X CosC—+(osp = Qcos @_ﬂ) (03( )

X
(os¢ sy = Qg, ((1_

TD) -Sin G%)
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- coSA +CosBtcosC+osD 16. If ABCD is a_cyclic quadrilateral then
cosA + cosB + cosC +cosD =7

= CosA+Cos(i8o-D)

+ os(180-A) + L0sD (a) 2(cosA + cosC) (b) 2(cosD + cosB)
2(sinA + sinC 0
- <°/‘(~<95’{"‘°}4+«70€6 ) & sinC) \(d}”
D
= 0O C
A
)
<A+<(:‘80'

<B'ND: | 8o
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E —+0 —-0 | =
17. tanod sin 2 CcOS 2 ?

) )
(a) 1 (b) O
(c) cos6 (4} sin®6
= ng (}"36 Sind



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

18. tamnA+ tan(180°+A) +cot(90°+A)
+ cot (360°-A)=7?
(a) O (b) 2 tanA
(c) 2 cotA fd) tamA - cotA

tond + f“’?A/ -194A ~CorA

~——

- J(O\Mﬂ~u}|—g
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Cot 6N
=

= —WtA
=

Cot+ Sp

or all govt. exz { BY ADITYA RANJAN SIR

cotE * cotz—” + cots—” .......... + cot6—ﬂ-
7 7 7 7
=7?
N (b) 1
(c) -1 (d) 2
(’°*A +Cot '2,\ 4wt

30 +co+un + (ot sn 4+ (ot 6~

= (%L +q/2£_(0/1 )ﬁ/ 4%



COSO +QCos +Ywso COS 10" +¢0520 + oS3y

- C I+
= Coso(l1+2+y) - Cos16( 1+ 2 _”)X
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- |-C0SE , |-(0S3N T 37 oS T
= + . 2_+ 2_+ - | + 2 . -
. g +_ Q_'G 20 sin 3 sin 3 sin a sin 3 ?
+ ‘-(OS-G’T - \- (JOSE 1
— (@), (b) 2
=4 - (0/3/,“ C/}ﬁ/-l-[.’.(o " .
+l+u) (c) = (d)
- l&, 2 }ﬁ‘:] 2 4
&Sm?():\*(.ogo
S0l oy



A+B = Q0
@‘A-I-Sin@

S
Ex= Sinio +sicten = Q)
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20 i 21[--0- i 2&[-4- i 25_”. + si 2175 =P
- g(S‘|n’_éI+sin73_87\‘) . sin? o+ sin® -+ sin? o~ + sin? - =
- 99X 1L 1

(@) 3 N

3 3
€) 5 (d)
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4 (0[’ 30"+ 3t0s” (QO+6D) -UX2 231,  What is the value of —cot"’— + 3c0s2150°

3 3 6
+8X 1
- 4cosec?45° + 8 sing ?
= 4%+ 3xsint 6o St
-~ () 2> b) 1
= Y +'3X3_ = o3 \})/ 4
Y T

7 13
(c) - 2 (d) 2



Sin28 = dSINB-WSE

e

[(OSZ@ = Co0s?o- Sin’@
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- 2xSin2A XC0SZA 22, What is the value of
- SinyA

| {4cos(90- A)sin®(90 + A)} - [4sin (90 + A)cos®(90 - A)} |

= Sindf - @ cos(lsowA

" W 2 _
(a) 1 -1
(c) O (d) 2
S~ S. —
- 2)(2 Sinﬂ‘&s \’“(A
— R (02A —Sigq)
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“ ( a _ _1 2. What is the value of
- '}“"J- “l

2& 4cos (90 - A)sin®(90 +A)} - [4sin (90 + A)cos®(90 - A)} |
) ‘Z @ le+ A=30 cos(1802+ ]
(a) 1 NLES

(c) O (d) 2

E=—=N,

4 Coc en .2
0 - .

= ~(0g3, -
g(%wgso@ 2 )




L AMATHS O e T O 5Y ADITYA RANJAN SIR

J‘Q”%[ xtau%\' 23. What is the value of

- touTTX tow( A- T ' \
- |X(-\) = -\ (a) O (b) 1

) 5= (df -1
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24. What is the value of sin (630° + A) +

CcOosA?
3 o 1
\ie] O (d) 23

=  Sin(e304A) +Cos A
- Sin (Qox +0)+(og

I ¢
g OSH +(OSA
0
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A =0 25. What is the value of cos(90 - B) sin(C -
g=0

A) + sin(90 + A)cos(B + C) - sin(90 - C) cos
(A+B)?

(a) 1 (b) sin(A + B - C)

(c) cos(B+ C -A) ~{d] O

W



oSO :—_53_ av ¢ (18v

Sine = + &4 Sine
+ = '
@ | i@
toug = s #CD
- S
3 \D
@
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Ixtou™ - wosec! X If cosx = — & and t < X < ?ﬂ, then the
= X ﬁ_) - 3X ( ) value of 2tan?’x - 3cosec?x is :
SSC CHSL 8 July 2019 (Morning)
= aX3-3x\y. \.(3‘)/2 (b) 10
=y (c) 8 () 4

o "D

\
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3

? (
= It 1:3596 % . 27. If cosx = - ? and n < X <?”, then the
- ax(3)+3 -3.)
({;') (\f’?: value of 2cot?x + 3sec’x is :
= ax3+ Y. SSC CHSL 8 July 2019 (Afternoon)
% 2y 10 (b) 4
- (c) 8 (d) 16
B N,
n_ O
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Use Ophm _ 1
28. Find x if cosx=- —.
@) cos (180490) = —Cos Q0 2
= O SSC CHSL 15/10/2020 (Evening)
® Cos (o0+3p) = -Sin30’ 3r _ . 2r
)=-_L ?.&10 \(m/?_no
2
o 4
— =S¢ — = Qyy-
(€) -5 (d) Yo
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_g_}g Me. +hod
28. Find x if cosx = —@ @

(0SY = - (0S60
= ¢os(180-66) SSC CHSL 15/10/2020 (Evening)

0s 120 (a) 32_fr — o0 \M/%” —_

or _ 4



